
日にち： 月 日

名まえ
９

⑨ 定着

次のデータの中央値（メジアン）を求めましょう。
ちゅうおう ち

13 6 47 35 21

56 30 71 25

１

３ 15 9 50 29 41

16 28 45 33 0

答え（ ）

答え（ ）
式：

4 23 46 10 80

34 65 18 27

２

答え（ ）

・



日にち： 月 日

名まえ
９

⑨ 定着 答え

次のデータの中央値（メジアン）を求めましょう。
ちゅうおう ち

13 6 47 35 21

56 30 71 25

１

データの値を小さい順に並べると・・・

6，13，21，25，30，35，47，56，71

３ 15 9 50 29 41

16 28 45 33 0

答え（ ）

答え（ ）
式：

4 23 46 10 80

34 65 18 27

２

答え（ ）

データの値を小さい順に並べると・・・

30

28.5（28＋29）÷２＝28.5

データの値を小さい順に並べると・・・

27

４，10，18，23，27，34，46，65，80

0，9，15，16，28，29，33，41，45，50 

・
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